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30T MBEN
BENGALI
(MODERN INDIAN LANGUAGE)
(NEW & Old COURSE)
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions..
GROUP-A . (NEW COURSE)
Page Nos. 2-6 Q. Nos.1-11
'‘GROUP-B (OLD COURSE)
Page Nos. 7 - 11 Q. Nos. 1 -11
NEW COURSE OLD COURSE
Q. No. 1 carries 1 mark each . 1x2=2 Q. No. 1 carries 1 mark each 1x2=2
Q. No. 2 carries 1 mark each 1x10=10 Q. No. 2 carries 1 mark each 1x8=8
Q. No. 3 carries 22 marks cach 2x2=4 Q. No. 3 carries 2 marks each 2x2=4
Q. No. 4 cam'e.s 3 marks each 3x2=6 Q. No. 4 carries 3 marks each 3x3=9 .
Q. No.5 carries 3 marks cach 3x4=12 Q. No. 5 carries 3 marks each 3x2=6
Q. No. 6 carries 3 "f’”'ks "“d" ) 3’?:9 Q. No. 6 carries 4 marks each 4x2=8
Q. II:IIO‘ ;(":E) carries ; mar ﬁs each ::g:g | [Q Ne. 7 (a+b) carries 9 marks 4+5=9
8' NZ. 9 (Zmzs(:f,::j-zumg;:r Sm . - Q. No. 8 (a+b) carries 9 marks 44+5=9
et B g @  1%x55 Q. No. 9 carries the following marks
)  1x5=5 _ @ Tpedped
Q. No. 10 carries the following marks ® 2=3=h
’ (a) 1x4=4 (© 1x4=4
(B  2x4=8 (d) 2x2=4
© 3x2=6 € - 1x2=2
(d) 1x2=2 Q. No. 10 carries 15 marks 1x15=15
Q. No. 11 carries 10 marks 1x10=10 Q. No. 11 carries 10 marks 1x10=10
Total = 100 . Total = 100
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(For Old Course)
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